900 GeV pp Soft QCD
‘T,'_I = I T I T I I | T I T I T I I T I T =
> F -
8 - pT(r7) (alice2011-y0.5) -
o I _
S 10 3
S 5
3 = -
S 3 .
2 B |
©
=
2 e E
Z = 5
— —E— Pythia 6.425 350" & 7
107! & --«-- Pythia 6.425 351 =
— - ¥-- Pythia 6.425 352 =
----- A~ Pythia 6.425 353 .
— --0-- Pythia 6.425 354 N
1072 - -~ Pythia 6.425 355 —
= = Pythia 6.425 356 s BE
- Pythia 6.425 357 o7
L Pythia 6.425 358 7
10_3 | --=-- Pythia 6.425 359 —]
- ALICE_2011_S8945144 -
B | | | | | | | | | I_
: T T T T | T T T T I:
2 | E
w F E
L:) B Q’OO@G@O .... —
< B ARSI & el oy e S e - e == ULy Sty ]
g 1 SRR etvee 2 e A OO Vv A
i) At ]
2 ,
@
o
0.5 - N
1 1 1 1 | 1 1 1 1 1

Rivet 3.1.0, = 7.1M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


